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PART A — (10 x 2 = 20 marks)

1. Find ‘R’ in the circuit shown in Figure. 1

Figure. 1

2. State kircﬁhoff s laws.

8. The two resistance of 4Q2 and 6Q are cdnnectéd in parallel. If the total

current is 2 A. Find the current through each resistor.



4.  Aload is connected to a network of the terminals to which load is connected,

R, =10Q and V,, = 40V . Calculate the maximum power supplied to the load.

5.  Given the circuit what is the equivalent inductance of the system below.
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6.  Define co-efficient of coupling.
7. Define time constant for RL circuit. Draw the transient current characteristics.

8. What are the parameters commonly used in the analysis of the two port
network?

9. Write the distortion power factor equation of the three phase circuits.

10. The power input to a 2000 v, 50 Hz, 3 phase motor is measured by two.watt
- meters which indicate 300 KW .and 100 KW respectively. Calculate power
factor. : - '

PART B — (5 x 16 = 80 marks)

11. (a) () Determine the current in all the resistors of the cifcuit shown in
1 &
Figure 11 (a) (i). — ‘. 9)
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Figure 11 (a) (1)
(i) State and explain Kirchoff's laws. @)

Or
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(b) Use branch currents in the network shown in Figure 11 (b). To find the
" current supphed by the 60 V source solve the circuit by the mesh current
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Figure 11 (b)

12. (@) (1) Apply source transformation technique to determine current io in
Figure 12.(a) (1). (9)
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Figure. 12 (a) (1)

(i) In the circuit of Figure 12. (a) (i), six resistors are connected to
form delta and a star. Fmd the effective resistance between
A and B. : y )
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Figure 12 (a) (i)
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13.

(b)

(a)

(1) Find the power delivered by the 20 V source using superposition
theorem for the given circuit in Figure 12 (b) (i). 9

Figure 12 (b) (1)
(i) . Determine the thevenin’s equivalent across AB for the given circuit

in Figure 12 (b) (ii). (7)
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Figure 12 (b) (ii)

For-the circuit shown in Figure 13 (a), determine the impedance' at
resonant frequency 10 Hz above resonant frequency and 10 Hz below
resonant frequency. ' (16)
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Figure 13 (a)
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(b). (1) Discuss the tuned circuit. ! (8)

(i) Derive the expression for resonant frequency and bandwidth for a

series RLC resonant circuit. (8

14. (a) A series RL circuit with R = 10Q and L = 0.1 H is supplied by an input
voltage V(t) = 10 sin 100t volts applied at t =0 as shown in Figure.14 (a).
Determine the current I, Voltage across inductor. Derive the necessary
expression and plot the respective curves. ‘ (16)
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Figure 14 (a)
Or
() Find the h-Parameters for the network shown in Figure. 14. (b) (16)
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Figure. 14. (b)
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15.

(a)

(b)

Discuss in detail the three phase 3-wire circuits with star connected

balanced loads. (16)

’

Or
For the balanced circuit in Figure 15 (b), determine the line currents
and voltage across each load impedance. Draw the phasor diagram. (16)

Figure 15 (b)
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